1.8 5, A
1. a) Pﬂﬂlocyﬂ&
2, A v, C
v TCP-SYN
3 . C IS,
4, I:lmnl-%];—}ia:_'lomb 6., = TCP-SYNAK
B B, Tecp- AcK
5. A 14, ¢
T B 4 L. - L
6, 2RIt + 7 * ARTts 3= +aRTE42 7 14. B
GRTE 4£+% - Yo 2 omp Yo, [02'1X63 A lexlspn = 512 NP }'_) P)‘)jg(&ﬂo—
232X 19
2, — A’RP—WM
. . %ﬁﬁm, =16MUp)y
. 2
ARP-
q, C ¢ it
0. A TCP-SYN
I, ¢
TCP-SYN Ak
(2, IP1.143,2 1000 0doo.0
IP2, 13,3, [0oo ||p00.0 Tep- Ack
IP3, 113,2 looo loi[0.0 )
C
IP . 3,2, loeo [l00, 0 Pnjo@f?&
B ARP - REM
+ 1 T
niae Ti QT) \ -
X q) T N b
120amy -uMka/p =480 000 [t \3 DN S - QM‘/
o oo L1\’,;\ck4
I Ack4 g g0 =60 'f“'(tj-lb \At“
- tAcki | . DNS‘ Rb’l\/
: a Janey me 32 . E
3 ~| i
Q AcK 3\ At ARP - quw"
st oes £ ¢ L
oed 4 - ~L
M2 SACKL A‘RP‘RLW
Acka ACK3
20+ R 4 ) 5> Mo Tine ~ TCP-SYN
/'\5 oY
120mp \3\"“1 s Te= 1o s+, 4RTe+
240 +tp 4A% \ G> (6o -32) €p +RTE = TCP-SYNAC
LACK 34 -
L0 4 2tpiaATE 2 = la0 28t Y agTe Tepe AcK
34
T
§
Te = 240 am+ 2p12BT¢ + (60-33 ) tp + AT =
= 249 + 396, +3RTE
3. a) Bl A c b |8 DojABC B
T=o @ s 3 G) 4 6 @5
=1 - 50 @ v 6 @S
T:)_ - 5 @ 5 @ 6 @ Y
T=3 - 6 @ @ 6 6 @ 6
T=y - 70 7 ® © ¢ =
T=5 - 3 @ @ 3 ©® 6 8
T=¢ | |- 4@ |2 @] |©b T
T=7 - L@ T O ® ¢

Examel

- 1011 P4gina 1

Mac pet, MAc Oy

B A

A B

B A
MAC Dot,  MAc Oon .
tbfma} A

A 3

B A

A B

B A
MAC Det. MAc G,
Dx{ma.r A

A c

d A

A C
DJ{mda— A

A 3

B A

A B8

B A

T N

1! A= Camidodn

N=q D‘Wp— Camilad
1; B~ comitodon

i comdade? > A

1:A comutadg
1% comdader > B

N+"| 'énm

T Toman
1! A~ Comdodn
N-1 ; Difpide- comdladon
1; 8 comitaden
12 comdadd? > A
1! k= Comidada
1% Gamidedi 5B
4'. B~ Cmfdd@'l
1% Comibader > A
1; A~ comitaden
A% tomibaddr > B

N‘\'% 'énm

T Homan

1! A Comidoda

N=1 ; Defpi camidaden
4'- c- Cmfd-A@ﬂ

1% comidadar - A

1; A coloden

1! Comitadar - C

1 ¢ - cmituden

1% tomdade? > A

1t k> Comidodn

N-1: D;Wa— Cmnja«jdﬂ

4.- B~ Cmfclpl@'l

13 comidaddr > A
1! A~ Comidodn
1% Caomidad) > 1

1: 8> camutoden
1! comidader > A

1: A._; Cmr\ufao‘@’l
12 Comidadd? > B

AN Y o

=3 OD An{’ll‘hwg;g ,{Mm V}ﬂc)\mk.



